2 Sk E U

Iz

22101—; HE :'% ﬁ?‘ﬂ‘ﬂ OV‘HE} T H}%’H 9414

T2 50] H|7F 1 : 20| B2 YO H|E 1
2h2 vH= 200 3], 2 ¥ = 100 8] 54U
12.56 m = 1256 cm

2 Ht#7H 1003 & of HE=

H

10 x 2 x 3.14 x 100 + 1256 = 5(H) 3] g},

29U}, wetA

9] gto] 300




AF7F 50.24 cmQl YO] Wol= duplyzt?

» E: cm?

> ®E 200.96 cm?




o] =39 2ol 188.4cm 1 WO REAE2] Aol= B emYU7F?

® 10ecm @ 15ecem @ 20cm @ 25cm (@)30(:111

(9] E4)) = 2x(Y2] ¥ 2) x3.14
188.4 = 2x (9] ¥tA]E5)x3.14
e P0] ¥ 22 188.4 + 3.14 + 2 = 30( cm) YU TH.




D (AAAEE) + (95 +WiE
= (100 X 3) + (100 x 3.14) + 20

= 300 + 314 + 20

= 634( cm)

> & cm
[> HE . 634cm
120°
100cm
p 60
=9




|

g
]
i
&
<
jny
juy
T
rh
AY
- \
_
T \
e~ |
‘H \
—~ g = =
X O e~ 3]
<
1
1
U
1
1
1 —
/! m
g 3
0 Il
— <
—
e e o3
gl Ul -
] i
KO =
<t




E}% -j-la]:l T [e} 1 E =
o] YA=F | Fu7} 7850 cm?® 2HH, ¥7]5] AF2
FHA Q.

T --30cm- -

QREE T2 02 Gol BolH o] YA=Pe]
Rt o7k 25 em 9 9715-2] Frlsh Bt
27150 w188 [ |(cm) o 5

[ Jx[ ]x3.14x25=17850,

[ ]x[ Jx3.14=7850=+25=314,
[ ]x[_]=100,

[ ]=10(cm)ol2=2
A715-9] 2152 20 cm Y ot




